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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Q1 Why does a stone thrown up into the sky fall back to the earth?

Ans 1. Work done by the object pulls it down towards the Earth.
« 2. There exists a force that pulls it down towards the Earth.
X 3

There exists a centripetal force that pulls it down towards the Earth.

X a

There is a downward pressure that pulls it down towards the Earth.

Question ID : 691352856
Option 11D : 6913523423
Option 2 1D : 6913523424
Option 31D : 6913523422
Option 4 ID : 6913523421
Status : Answered
Chosen Option : 3

Q-2 Which of the following classification of elements is based on atomic numbers?
Ans o 1. Modern periodic table
/< 2. Mendeleev’s periodic table

/< 3. Dobereiner’s Triads
/< 4 Newland’s Octaves

Question ID : 691352867
Option 11D : 6913523468
Option 2 ID : 6913523467
Option 31D : 6913523465
Option 4 ID : 6913523466
Status : Answered
Chosen Option : 1




Ans 1. add 273 to the given temperature
/< 2. divide the given temperature by 273
o 3 subtract 273 from the given temperature
/< 4 multiply the given temperature by 273

Q3 To change a temperature from the Kelvin scale to the Celsius scale, you have to:

Question ID : 691352869
Option 11D : 6913523473
Option 2 ID : 6913523475
Option 3 1D : 6913523476
Option 4 ID : 6913523474
Status : Answered
Chosen Option : 3
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Question ID : 691352834
Option 11D : 6913523334
Option 2 ID : 6913523336
Option 3 ID : 6913523335
Option 4 ID : 6913523333
Status : Answered
Chosen Option : 3
Q.5 An object is placed in front of a concave mirror at a point between its centre of curvature and focus. The image will be
formed at:
Ans 1. the focus
« 2. a point beyond the centre of curvature
/< 3. a point between the focus and the centre of curvature
< 4 the centre of curvature
Question ID : 691352863
Option 11D : 6913523449
Option 2 ID : 6913523452
Option 3 ID : 6913523451
Option 4 ID : 6913523450
Status : Answered

Chosen Option : 2

is 5. The greatest of the three numbers is

Ans 1 2g

Q.6 The mean of three numbers is 21. The range of this data set is 19 while the difference between the two smallest numbers




2. 28
3. 27
4. 26

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 691352822
Option 11D : 6913523286
Option 2 ID : 6913523285
Option 31D : 6913523287
Option 4 ID : 6913523288
Status : Answered
Chosen Option : 2
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Question ID : 691352849
Option 11D : 6913523394
Option 2 ID : 6913523396
Option 3 ID : 6913523395
Option 4 ID : 6913523393
Status : Answered
Chosen Option : 3
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Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

691352881
6913523524
6913523522
6913523521
6913523523
Answered

2

towards the east

Q.9 An object travels northwards with a constant velocity. The net force acting on the object will be .

Ans x 1.
X 2 towards the south
W 3. zero
/< 4 towards the north

Question ID : 691352859

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913523435
6913523434
6913523436
6913523433
Answered

2

Q.1 T & UF a9 12.5% # @i W 3= &1 IfE 36 3§ I T 56 FOF A I @, o 39 225%
armmg&rrgﬁan 25% MY 9T A & AT 3@ 9y @ Rwe-aead fhaer e mee?

Ans X1 % 190
v 2 7 200
X3 %182
X4 %185
Question ID : 691352811
Option 11D : 6913523241
Option 2 ID : 6913523243
Option 31D : 6913523244
Option 4 1D : 6913523242
Status : Answered
Chosen Option : 2
@1 Goitre is caused due to the deficiency of .
Ans 1. calcium
/< 2. sodium
X 3 iron
v 4 jodine
Question ID : 691352878
Option 11D : 6913523509
Option 2 ID : 6913523512
Option 31D : 6913523511
Option 4 ID : 6913523510
Status : Answered

Chosen Option : 4
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Question ID : 691352899
Option 1 ID : 6913523596
Option 2 ID : 6913523593
Option 3 ID : 6913523595
Option 4 ID : 6913523594
Status : Answered
Chosen Option : 3
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Question ID : 691352839
Option 11D : 6913523356
Option 2 ID : 6913523355
Option 31D : 6913523353
Option 4 ID : 6913523354
Status : Answered
Chosen Option : 4
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Question ID : 691352884

Option 11D : 6913523535




Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913523536
6913523534
6913523533
Not Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

691352889
6913523554
6913523555
6913523553
6913523556
Not Answered
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Question ID : 691352825
Option 11D : 6913523299
Option 2 ID : 6913523297
Option 31D : 6913523298
Option 4 ID : 6913523300

Status :
Chosen Option : --

Not Attempted and Marked For Review
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Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

691352841
6913523361
6913523363
6913523362
6913523364
Answered
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Ans X1, 21
X2 35
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

691352819

6913523273

6913523275

6913523276

6913523274

Not Attempted and Marked For Review
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Question ID : 691352802
Option 1 1D : 6913523207
Option 2 ID : 6913523205
Option 3 ID : 6913523206
Option 4 ID : 6913523208
Status : Answered
Chosen Option : 3
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Question ID : 691352886
Option 1 ID : 6913523541
Option 2 ID : 6913523542
Option 3 ID : 6913523544




Option 4 ID : 6913523543
Status : Answered
Chosen Option : 1
Q1~2 The transmission of traits, physical or mental, from parents to offspring is called .
Ans 1. variation
/< 2 evolution
X 3. progeny
o 4 heredity
Question ID : 691352880
Option 11D : 6913523519
Option 2 ID : 6913523518
Option 31D : 6913523520
Option 4 ID : 6913523517
Status : Answered
Chosen Option : 4
a2 is used as a fuel in cars with petrol.
Ans 1. Benzene
< 2. Alcohol
/< 3. Butane
« 4 Ethanol
Question ID : 691352873
Option 11D : 6913523491
Option 2 ID : 6913523492
Option 31D : 6913523489
Option 4 1D : 6913523490
Status : Answered
Chosen Option : 4
92 In the last ten years, FDI inflows are highest in which sector of India?
Ans 1. Services
' 2 Telecommunications
/< 3. Food processing
/< 4 Pesticides
Question ID : 691352900
Option 1 ID : 6913523599
Option 2 ID : 6913523597
Option 31D : 6913523600
Option 4 ID : 6913523598
Status : Not Answered
Chosen Option : --
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Question ID

Option 11D :

Option 2 ID
Option 3 ID
Option 4 ID

1691352848
6913523389
16913523391

16913523390
1 6913523392

Status : Answered

Chosen Option : 4
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

691352891
6913523562
6913523561
6913523563
6913523564
Answered

4

Q2>

6
Ans X 1. Frictional force

/< 2. Potential energy

/< 3. Gravitational force

v g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

691352861
6913523441
6913523443
6913523442
6913523444
Answered
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Chosen Option : 4
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Question ID : 691352854
Option 11D : 6913523413
Option 2 ID : 6913523416
Option 3 ID : 6913523414
Option 4 ID : 6913523415
Status : Answered
Chosen Option : 2
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Question ID : 691352826
Option 11D : 6913523303
Option 2 ID : 6913523301
Option 31D : 6913523302
Option 4 ID : 6913523304
Status : Answered
Chosen Option : 1
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Question ID : 691352813
Option 1 ID : 6913523250
Option 2 ID : 6913523251
Option 31D : 6913523249
Option 4 ID : 6913523252
Status : Answered
Chosen Option : 3
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Question ID : 691352830
Option 11D : 6913523320
Option 2 ID : 6913523319
Option 31D : 6913523317
Option 4 ID : 6913523318
Status : Answered
Chosen Option: 3
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Question ID : 691352887
Option 1 ID : 6913523547
Option 2 ID : 6913523546
Option 31D : 6913523545
Option 4 ID : 6913523548
Status : Answered
Chosen Option : 2
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Question ID : 691352864
Option 11D : 6913523453
Option 2 ID : 6913523456
Option 31D : 6913523455
Option 4 ID : 6913523454
Status : Answered
Chosen Option : 4
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Question ID : 691352814
Option 1 ID : 6913523255
Option 2 ID : 6913523256
Option 3 ID : 6913523253
Option 4 ID : 6913523254
Status : Answered
Chosen Option: 3
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Question ID : 691352870
Option 1 ID : 6913523477
Option 2 ID : 6913523480
Option 3 ID : 6913523479
Option 4 ID : 6913523478
Status : Not Answered
Chosen Option : --
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Question ID : 691352852
Option 11D : 6913523406
Option 2 ID : 6913523405
Option 3 ID : 6913523407
Option 4 ID : 6913523408
Status : Answered
Chosen Option : 1
Q3
()
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Question ID : 691352883
Option 11D : 6913523531
Option 2 ID : 6913523529
Option 3 ID : 6913523532
Option 4 ID : 6913523530
Status : Answered
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Chosen Option : 3
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Question ID : 691352821
Option 11D : 6913523283
Option 2 ID : 6913523284
Option 31D : 6913523282
Option 4 ID : 6913523281
Status : Answered
Chosen Option : 1
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Question ID : 691352845
Option 1 1D : 6913523377
Option 2 ID : 6913523379
Option 31D : 6913523378
Option 4 1D : 6913523380
Status : Answered
Chosen Option : 3
Q3>
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Question ID : 691352810
Option 1 ID : 6913523238
Option 2 ID : 6913523240
Option 31D : 6913523239
Option 4 ID : 6913523237
Status : Answered
Chosen Option : 4
Q4
0
Ans x 1.
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

691352862

6913523447
6913523445
6913523446
6913523448

Status : Answered
Chosen Option : 2
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Question ID : 691352805
Option 11D : 6913523218
Option 2 ID : 6913523217
Option 3 1D : 6913523219
Option 4 ID : 6913523220
Status : Answered
Chosen Option : 1
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Question ID : 691352824
Option 1 ID : 6913523295
Option 2 ID : 6913523294
Option 3 ID : 6913523296
Option 4 ID : 6913523293
Status : Not Answered
Chosen Option : --
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

691352838
6913523350
6913523352
6913523351
6913523349
Answered
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Chosen Option : 3
Q4>
4
Ans “ 1
r AR
X3
XA
Question ID : 691352842
Option 11D : 6913523368
Option 2 ID : 6913523365
Option 31D : 6913523367
Option 4 1D : 6913523366
Status : Answered
Chosen Option : 3
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Question ID : 691352858
Option 1 ID : 6913523429
Option 2 ID : 6913523432
Option 31D : 6913523430
Option 4 ID : 6913523431
Status : Answered
Chosen Option : 3
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Question ID : 691352898
Option 1 ID : 6913523592
Option 2 ID : 6913523589
Option 3 ID : 6913523591
Option 4 ID : 6913523590
Status : Not Answered
Chosen Option : --
Q4>
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

691352888

6913523550
6913523549
6913523551
6913523552

Status : Not Answered
Chosen Option : --
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Question ID : 691352877
Option 11D : 6913523507
Option 2 ID : 6913523506
Option 3 ID : 6913523508
Option 4 ID : 6913523505
Status : Answered
Chosen Option : 1
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Question ID : 691352857
Option 1 ID : 6913523427
Option 2 ID : 6913523428
Option 3 ID : 6913523426
Option 4 ID : 6913523425
Status : Answered
Chosen Option : 2
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Question ID : 691352872
Option 11D : 6913523487
Option 2 ID : 6913523488
Option 3 ID : 6913523486
Option 4 ID : 6913523485
Status : Answered




Chosen Option : 1
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Question ID : 691352820
Option 11D : 6913523279
Option 2 ID : 6913523278
Option 3 ID : 6913523277
Option 4 ID : 6913523280
Status : Not Answered
Chosen Option : --
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Question ID : 691352853
Option 1 ID : 6913523409
Option 2 ID : 6913523411
Option 31D : 6913523410
Option 4 ID : 6913523412
Status : Answered
Chosen Option : 2
Q5[
3
Ans x 1.
r AR
v
r A
Question ID : 691352835
Option 1 ID : 6913523340
Option 2 ID : 6913523337
Option 31D : 6913523339
Option 4 ID : 6913523338
Status : Answered
Chosen Option : 3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

691352827

6913523306
6913523308
6913523307
6913523305

Status : Answered
Chosen Option : 2
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Question ID : 691352809
Option 11D : 6913523233
Option 2 ID : 6913523234
Option 3 ID : 6913523235
Option 4 ID : 6913523236
Status : Answered
Chosen Option: 3
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Question ID : 691352850
Option 11D : 6913523398
Option 2 ID : 6913523397
Option 3 ID : 6913523400
Option 4 ID : 6913523399
Status : Answered
Chosen Option : 3
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Question ID : 691352840
Option 11D : 6913523358
Option 2 ID : 6913523360
Option 3 ID : 6913523357
Option 4 ID : 6913523359
Status : Answered




X3

Chosen Option : 3
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Question ID : 691352831
Option 11D : 6913523323
Option 2 ID : 6913523322
Option 3 ID : 6913523324
Option 4 ID : 6913523321
Status : Answered
Chosen Option : 2
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Question ID : 691352817
Option 11D : 6913523266
Option 2 ID : 6913523265
Option 31D : 6913523268
Option 4 ID : 6913523267
Status : Answered
Chosen Option : 4
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Question ID : 691352804
Option 11D : 6913523214
Option 2 ID : 6913523213
Option 31D : 6913523216
Option 4 ID : 6913523215
Status : Answered
Chosen Option : 2
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Question ID : 691352876
Option 11D : 6913523503
Option 2 ID : 6913523501
Option 3 ID : 6913523502
Option 4 1D : 6913523504
Status : Answered
Chosen Option : 4
Q.6 [,"
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Question ID : 691352866
Option 11D : 6913523461
Option 2 ID : 6913523464
Option 31D : 6913523463
Option 4 ID : 6913523462
Status : Answered
Chosen Option : 1
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 691352855
Option 11D : 6913523419
Option 2 ID : 6913523417
Option 3 1D : 6913523420
Option 4 ID : 6913523418
Status : Answered
Chosen Option : 4
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Question ID : 691352895
Option 11D : 6913523577
Option 2 ID : 6913523580
Option 31D : 6913523578
Option 4 ID : 6913523579
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Status : Answered
Chosen Option : 2
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Question ID : 691352897
Option 1 ID : 6913523585
Option 2 ID : 6913523588
Option 31D : 6913523587
Option 4 ID : 6913523586
Status : Not Answered
Chosen Option : --
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Question ID : 691352879
Option 11D : 6913523514
Option 2 ID : 6913523515
Option 31D : 6913523516
Option 4 ID : 6913523513
Status : Answered
Chosen Option : 2
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Question ID : 691352833
Option 1 ID : 6913523329
Option 2 ID : 6913523331
Option 31D : 6913523330
Option 4 ID : 6913523332
Status : Answered
Chosen Option : 2
Q6 [,
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for all candidates.

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
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Question ID : 691352868
Option 1 ID : 6913523471
Option 2 ID : 6913523469
Option 31D : 6913523470
Option 4 ID : 6913523472
Status : Answered
Chosen Option : 1
Q6"
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Question ID : 691352893
Option 11D : 6913523569
Option 2 1D : 6913523571
Option 31D : 6913523570
Option 4 ID : 6913523572
Status : Answered
Chosen Option : 1
Q7.
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

691352874
6913523494
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6913523496
6913523493
Answered
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Question ID : 691352846
Option 1 ID : 6913523381
Option 2 ID : 6913523384




Option 31D : 6913523383
Option 4 ID : 6913523382
Status : Answered
Chosen Option : 2
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Question ID : 691352865
Option 1 ID : 6913523459
Option 2 ID : 6913523457
Option 31D : 6913523460
Option 4 ID : 6913523458
Status : Answered
Chosen Option : 2
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Question ID : 691352875
Option 11D : 6913523500
Option 2 ID : 6913523497
Option 3 ID : 6913523499
Option 4 ID : 6913523498
Status : Answered
Chosen Option : 3
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Question ID : 691352896
Option 1 ID : 6913523583
Option 2 ID : 6913523582
Option 3 ID : 6913523581
Option 4 ID : 6913523584
Status : Answered
Chosen Option : 3
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Question ID : 691352836
Option 11D : 6913523343
Option 2 ID : 6913523341
Option 3 ID : 6913523342
Option 4 ID : 6913523344
Status : Answered
Chosen Option : 2
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Question ID : 691352818
Option 11D : 6913523271
Option 2 ID : 6913523272
Option 3 ID : 6913523269
Option 4 ID : 6913523270
Status : Not Attempted and Marked For Review
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Question ID : 691352882
Option 1 ID : 6913523525
Option 2 ID : 6913523526
Option 31D : 6913523528
Option 4 ID : 6913523527
Status : Answered
Chosen Option : 4
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Question ID : 691352871

Option 1 ID : 6913523482
Option 2 ID : 6913523484




Option 3 ID : 6913523481
Option 4 ID : 6913523483
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Question ID : 691352837
Option 11D : 6913523348
Option 2 ID : 6913523345
Option 3 ID : 6913523347
Option 4 ID : 6913523346
Status : Answered
Chosen Option : 2
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Question ID : 691352885
Option 1 ID : 6913523539
Option 2 ID : 6913523538
Option 3 1D : 6913523540
Option 4 ID : 6913523537
Status : Not Answered
Chosen Option : --
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Question ID : 691352806
Option 1 ID : 6913523223
Option 2 ID : 6913523222
Option 31D : 6913523224
Option 4 ID : 6913523221
Status : Answered
Chosen Option : 3
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Question ID : 691352894
Option 11D : 6913523573
Option 2 ID : 6913523576
Option 3 ID : 6913523574
Option 4 ID : 6913523575
Status : Not Answered
Chosen Option : --
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Question ID : 691352812
Option 1 ID : 6913523245
Option 2 ID : 6913523246
Option 3 ID : 6913523248
Option 4 ID : 6913523247
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 691352816
Option 11D : 6913523261
Option 2 ID : 6913523263
Option 3 ID : 6913523264
Option 4 ID : 6913523262
Status : Answered
Chosen Option: 2
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Option 1 ID : 6913523257
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